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Name: __________________________________



1
Which point is on the circle whose equation is [image: image1.png]


?

1) [image: image2.png]


   2) [image: image3.png]


   3) [image: image4.png]


   4) [image: image5.png]




2
Which equation represents a circle whose center is the origin and that passes through the point [image: image6.png]


?

3
A circle whose center has coordinates [image: image7.png]


 passes through the origin.  What is the equation of the circle?

4
What is the equation of the circle with its center at [image: image8.png]


 and that passes through the point [image: image9.png]


?

5
What is the equation of the circle passing through the point [image: image10.png]


 and centered at [image: image11.png]


?

6
Which equation represents a circle with its center at [image: image12.png]


 and that passes through the point [image: image13.png]


?

7
What is the equation of a circle with its center at [image: image14.png]


 and passing through the point [image: image15.png]


?

8
What is the equation of the circle passing through the point [image: image16.png]


 whose center is at [image: image17.png]


?

9
Which equation represents the circle whose center is [image: image18.png]


 and that passes through the point [image: image19.png]


?

10
What is an equation of a circle whose center is at [image: image20.png]


 and is tangent to the line [image: image21.png]


?

11
The coordinates of the endpoints of the diameter of a circle are [image: image22.png]


 and [image: image23.png]


.  What is the equation of the circle?

12
The diameter of a circle has endpoints at [image: image24.png]


 and [image: image25.png]


.  What is an equation of the circle?

13
Write an equation of the circle whose diameter [image: image26.png]AB



 has endpoints [image: image27.png]A-4,2)



 and [image: image28.png]B(4,-4)



.  [The use of the grid below is optional.]

[image: image29.png]




14
The graph below shows [image: image30.png]AB



, which is a chord of circle O.  The coordinates of the endpoints of [image: image31.png]AB



 are [image: image32.png]


 and [image: image33.png]


.  The distance from the midpoint of [image: image34.png]AB



 to the center of circle O is 2 units.
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What could be a correct equation for circle O?



1) [image: image36.png]-1+ (p+ =29



   2) [image: image37.png]x+ 5+ (-2 =129



   3) [image: image38.png]-1+ (-2 =25



   4) [image: image39.png]-5+ (p+ D =25
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[image: image41.png]
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[image: image42.png]x+ D+ (y-42 =25
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[image: image43.png]x+ D+ (y-2° =4
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[image: image44.png]-3+ (p+4)? =00
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[image: image46.png]-2+ (r+ P =41
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[image: image48.png]ey’ =138
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[image: image50.png]x+ 2D+ (-3 =34
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[image: image52.png]x+ 5+ (-2 =16
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[image: image53.png]-7+ (y+ 4 =16




The line [image: image54.png]


 will be tangent to the circle at [image: image55.png]


.  A segment connecting this point and [image: image56.png]


 is a radius of the circle with length 4.
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[image: image57.png]-7+ (y+ 4 =16




[image: image58.png]2+2 0+(8)
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  [image: image59.png]
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[image: image60.png]-2+ (-2 =16




[image: image61.png]


.  [image: image62.png]


.  The center is [image: image63.png]


.  [image: image64.png]NE2-62+(3-3)7 = Je4r0 =3




.  If the diameter is 8, the radius is 4 and [image: image65.png]


.
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Midpoint: [image: image66.png]


. Distance: [image: image67.png]d=Jea-a7 e @- 4yt - i - 10
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[image: image69.png]


  Since the midpoint of [image: image70.png]AB



 is [image: image71.png]


, the center must be either [image: image72.png]


 or [image: image73.png]


.  [image: image74.png]WJ2test o[
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